2SI SHH

20249 & Z48 FOIEE N -AE O & A
(Hol Mext & AlIOIALS])
HMEIEY 2024, 12, 12,

MeISXE 4= X M E

— ™ ™

Q2SS4 H




NE-NESET. [Ehel: & &

Al o A g
o s = JIEGIA | A A = 2(B)-(A) o " = DIEGA | A A = 2(B)-(A)
(A) (B) PN HI 2 (%) (A) (8) PN HI S (%)
= | 2,670,620 | 2,701,155 | 30,535 1 z 2,670,620 | 2,701,155 | 30,535 1
H 312,219 | 314,697 2,478 1 | 337,654 | 339,334 1,680 1
S AE ] gmaeia 17,002 19,500 | 2,478 5 A 267,184 | 269,614| 2,430 L
orol=s=x4 =0 175,954 176,034 80 0.05
Mmiof 295,197 295,197 0 0
== Mg 47,278 49,615 2,337 5
o1 21H|
2 2,048,024 | 2,277,081 | 29,057 1 [ — 17 846 17 859 3 o
IDEX2 | 2,160,174 | 2,190,231 | 30,057 1 NGRS 23,000 23,000 0 0
HX 2 HXxX2 =
"‘A‘;‘lz’ "‘)j;'lz’ A EEXZ 46,050 46,050 0 0 JIEF =M FH| 3,106 3,106 0 0
p| 10,000 10,000 0 0
A2 EE2 26,800 26,800 0 0
Al oo I zeg| 2,000 2,000 0 0
JIEFRER 15,000 14,000 |  ~A1,000 AT 2 | =z ]
il X P x| 4,800 4,800 0 0
Al 47,960 46,960 | 21,000 A2 3] 94| 3.200 3.200 0 0
sez | 223 _
IR TR nmsas 46,960 46,960 0 0 H 60,470 59,720 AT750 Al
_ of Hl 2,600 1,000 |  A1,600 N7
HXES22 1,000 0| ~1,000] A100
24| Y 202 18,990 18,990 0 0
2 0 0 0 0
o2 | 12 2| zze= 7,050 7,050 0 0
JIEHR 2 0 0 0 0
HAZD2 5,160 5,160 0 0
A 10,000 10,000 0 0 x| 1,800 1,800 0 0
Moz | M2
geoldgas 10,000 10,000 0 0 JlEt2g I 24,870 25,720 850 3




NE-NESE2. [EF:

P
0

Al e Al =
o = o JIEOlAE | B Z  2(B)-(A) a1 = - JIEIA | BF0f A Z  2(B)-(A)
- = - (A) (B) OH 2 HIE(%) | - B (A) (B) OH 2 HI £ (%)
A 51,917 51,917 0 0 A 9,600 6,100 | 23,500 A36
TH
HEAZ0|’2 49,895 49,895 0 0| &t Al & H| 100 100 0 0
== == = Al & |
MEzoa=2 " -
(=22 2,022 2.022 0 0| & RNl 6,000 4,000 A 2,000 A33
Ol AFRIHI 0 0 0 0 AEZHISH 3,500 2,000 | 21,500 A43
A 500 500 0 0 2 A 2,312,828 | 2,343,954 31,126 1
S Z0H2H 100 100 0 0 A 68,147 70,450 2,303 3
g4+g | ¥4
J|EHIZ0 K= 200 200 0 0 pIEy] 10,500 9,500 | A1,000 A10
=L
JIEHE =2 200 200 0 0 AbSIH] == 11,500 13,200 1,700 15
PIEYAE 2,000 3,100 1,100 55
X 2=H 44,147 44,650 503 1
At Al 169,431 169,431 0 0
H
H | F2-20| o1 21H] 110,960 105,523 | A5,437 A5
IIEXNEH
AbS 29| 4,881 7,102 2,221 46
o 53,590 56,806 3,216 6
A 68,000 69,000 1,000 1
Z2=S0} oI AH| 44,500 43,919 A 581 A
LIsH
A HI 23| 13,100 12,890 A210 A2
oy 10,400 12,191 1,791 17




M HBE23, (cro:x
Al o A g
- . - = | A = 21(B)-(A) - _ - NEAr | S0 = 21(B)-(A)
- - B (A) (B) ar | HIEg%) | - B (A) (B) o4 2 Bl £ (%)
3 1,584,350 | 1,614,407 | 30,057 0
AN 123.680 |  123.680 0 0
OIS | smpyon n 5.920 5.920 0 0
KSR : :
SONNAAY | 1,044,728 | 1.266.404 | 21,676 >
sonpRIAY | 210,022 | 218,403 |  8.381 4
> 422,900 | 420,666 | ~2,234 N
SEEVESnE]
foaaiiies 54.600 | 54,600 0 0
S0
e 20.000 | 20,000 0 0
CHHS 52.600 | 52.600 0 0
MEEE
i 52.620 | 52,620 0 0
NEES[ESE
N 40.590 | 40,590 0 0
0IZ00]
OespiE | psKes 103,950 103,950 0 0
sepRHl | ZE0P
o 34,100 | 34,100 0 0
DT
CeshExe 2,500 2,500 0 0
SESET
p 6,480 6.880 400 6
Zoom
e 3,800 3.800 0 0
TODI=
CI=sl0/Hns 2,200 2,200 0 0
SE=AN 44460 |  44.306|  A134|  £~0.3
CIOIZA) : : :
JIE} Cr2sine 5,000 2500 ~A2.500 A50




NZ-NEE5E4. ECREE
Al 2l Al =
- ot = JIZEGA | BB A = 2(B)-(A) - 2t = JIZEGA | HBEA = 2(B)-(A)
(A) (B) aus | HIS(%) (A) (B) o HI S (%)
e | DEE A 0 0 0 0
NzE | XE BEE NS 0 0 0 0
o 5 .| 0 0 0 0
=
Atst 2
cEe =P = 0 0 0 0
A 300 300 0 0
oE | XS
SINES 300 300 0 0
A 10,238 11,467 1,229 12
ol
% D(_);" Hj' |HE|+ GilHIb 389 389 0 0
JIEH| T
I 9,849 11,078 1,229 13




